a=-1,b=29%L ", -3a+6b-3(b+2a) & AAIstolz},
g :

>
> ®E: 15

—-3a + 6b - 3(b + 2a)
= -3a+ 6b—3b—6a =—-9a+ 3b
HAS oA -9x (-1)+3x2=9+6=15




y=-2x-3 LW, 3x—y-55 xof T3 Ao jepifjoiat,
B

>
> He: 5x-2

3x—(-2x-3)-5=3x+2x+3-5=>5x-2




3.
HFH Al (3x—y) : (2x—4y) = 2: 3 S y of] TSto] Zojg}
o = .

>
> dE

2(2x —4y) = 3(3x-y)
4x -8y = 9x — 3y
oy = —5x

SYy=—X




4.

2x—Ty+1=x-5y & o, -2x+ 3y +4 E y o T3t A o= ehff
oz},

2x—Ty+1=x-5y & x °f ¥ote] Aot x =2y - 10|t}
—2x+3y+4=-2(2y-1)+3y+4=-y+6




(2x+y): (x=2y)=3:1< o, 2);—1_;?)}9,] ke pabola),

[
H -

>
|> HMek: o3

oHd =

B

3(x=2y)=2x+y
3x—6y:2x_|_y

x = TyelBg Fojz1 Aof ¥
2x+4y _ 14y+4y 18y g

X=y Ty-y

s




